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U.G 1st Semester Examination - 2019

ECONOMICS
[HONOURS]
Course Code : ECOH-CC-T-1I
Full Marks : 60 Time : 24 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten questions: 2x10=20
@-@ vt e Teame s

)11 £(x) = x* -, find the value of £(x)+ f(~x).
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H?(Check for continuity of the function
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¢y~ If domain of a function y=5+3x is the set

S={x|1sx< 8}, find the range of the function

and express it as a set.
}=5+3xmﬂwwuﬁmww
G S={x|1<x<8} WA S WAFIHA 21
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d) Show that, hngI —1 does not exist.

oreIe (3, lim%qﬂafﬂm el
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e:;_/Find the subsets of the set S={1, 2, 5}.

O/BS={1, 2, 5}-93 ARCveE EN|
Assume that demand function is g=16—4p and

supply function is q=—8+4p, find the
equilibrium level of price and quantity.
I 5IfEH WAHF g=16—4p AR @NE WAwS
q = -8+4p T, O SIRHAN W @ «Afawe e
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M‘Wlm do you mean by point of inflection?
d1e a4 3re § @R e

h)”” State the necessary and sufficient conditions for
maximization of the function y=f(x).
y=H(x) St bam wW Fdfarm oy aamein 9
e =545 fage =2
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0) What do you mean by first order difference

equation?
oo oA fewiram e sere @A

2.  Answer any four questions: 5x4=20

-G Braft aoea Tea we 2
a) Average cost function is AC=3Q*-9Q+100.
Comment on the shape of the function.

% TT @ AC=3Q*-9Q+100-97 =WFfE I+t
A |
b) Di:tinguiﬁh between convex and concave
function. Explain your answer diagrammatically.
TEH G WIS FAWEA WY A o e
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¢)/ The demand function is g=10—p, when p=Rs.6,
g=4. If the price rises by 5%, determine the
percentage change in quantity demanded and
also find the price elasticity of demand.
23+24%
bIfEHl W q=10-p @R p=Rs.6, =4 T W
W 5% 3% oM sifEwr wewa sifiaes v e

-9 Given the production function
'I"--?’—+2L’+12L, find average productivity

: (4)
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5x4=20

\Q+100.
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of labour (L) and also find at what value of L,
average productivity starts falling. 24+21

G Te A HLHABSD q = —%—1-21,’ +12L 9% (%03
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e) . Determine the maximum and minimum values
of the function f{ix)=x’-12x+2.

fix)=x’-12x+2 SHEFq 579 9 AW (Fgew)
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f) / If the marginal cost of a firm is

MC =3+150q—-9q’, find the total cost given
_the condition at g=3, total cost is ¥300.

o W T afgs s MC=3+150q9-9q° =3,
o (Wi W [ 37| o = 79w g=3, @ IF
T3001

Answer any two questions: 10x2=20
A-CIIEA! S e Tea W ¢

\a)/Th: demand function of a monopoly firm is
p=15-0.5q and total cost is C=0.5¢*+5q+10,
then find price and quantity produced by the firm

i)  under profit maximization _;,-ﬁ'ﬁ
b 1
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® = senly wrfs sl =S p=15-0.5q

o= A% TT O=0.5¢°+5g+10 =™, =X v vm
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i) Denve the relationship between average
revenue, marginal revenue and price
clastcaty of demand
== =TI T WE € TR VI ey ez
T e S R

#) Given the supply function q =aJp—b,
find the price elasticity of supply and show
that price elasticity of supply decreases
with rise in price. 5+5
T (WS WS g =2 /p-b-93 oo
TR T feeee SR ve @
TR ey masm a e O
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mode! are Q. =86-08P and

Q.--—lﬂ+ﬁ#,_, rupemuly Find the
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& Must function is C =300q-10q? +%q’, then
calculate
1)  output at which marginal cost is minimum
ii) output at which average cost is minimum
iii) Show that at minimum point of average

cost, AC=MC. - 4+4+2=10

@i Tw @ C=300q—10q1+-;-q3 = e
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